Ot 5d fll /[ HERR TR

Fixed Driven/Friction Accumulating Roller

4muR&Ef): FD(FA) 9T-1/P-508 ZC - RL500 S - 12/M8X20 ##mEi & : b [BC
00 2E84WE @ MOHE: 25

OT-1(RS40%E1%)

155 18.5 0.5

»43.4
©37.13 _

1 34 RL
EL= RL+40
TR T BLAS(d)
(D) xBEE
e A e g £ )8 % a12 gl4

°®

350.8x1.5 °® ° 350%3.0 ° ° °

@57x1.5 e ° e )
°

©60.5x2.0 e °® 360x3.0 ® °® ®

@ :FEM O:AFIH




118558 5/ HER IR E

Fixed Driven/Friction Accumulating Roller

4m SR EE{: FD(FA)11T-1/P-508 ZC - RLS00 S - 12/M8X20 #i#mEME : [ &
0 @ 4WE @ BOHE: 28

11T-1(RS40/08B## %)

15.5F18.5 05
NEE) \
- o
v wEE o
< 5 S
/
1 34 RL
EL=RL+40
11T-2(RS40/08B3i# (%)
15.5 22 18.5 45 05
<o)
= S
o €
IS
1
EL=RL+62
. WA 10y A8 (d)
FRE(D)xEEE
Srer AGiie s At g 4 @12 14
#50.8x1.5 ° ° ¢50'x3.0 ° ° °
357x1.5 ° ° ° °
#60.5x2.0 ° ° ¢6(;3_0 ° ° °

@:Z%EFm O:Fsl#




136558 Hl/HER IR E

Fixed Driven/Friction Accumulating Roller

4m IR Ef]: FD(FA)13T-1/BC-508 SC - RL500 S - 12/M8X20 HishTEH E : (ke
0 @ 83468 @G B : 2[5

13T-1(RS35# (%)

16.2 20.6 45 0.5
[+ o)
g & =
1 36.8 RL
EL=RL+42.8
R ME [ NNEREIG))
(D) xBEE
PEEE A ¥ £ )8 @12 @14
°
#50.8x1.5 ° ° 5003.0 ° ° °
#57x1.5 ° ° ° °
#60.5x2.0 ° ° g ° ° °
?960x3.0

®:FEm O:A&I#




146558 5/ HER IR E

Fixed Driven /Friction Accumulating Roller

4maR L f: FD(FA)14T-1/P-508 ZC - RLS00 S - 12/M8X20 ##aEHE : [P [BC
0 @ 4dE @ BOHE: 23

14T-1(RS40/08BH1%)

15.5_i_ 18.5 45 0.5
L
35 g
1 34 RL
EL=RL+40
14T-2(RS40/08BH21%)
15.5 22 18.5 45 0.5

D63
0 57.07

1 56 RL
EL=RL+62
TRREAM 10 BLAE(d)
(D) xHEE
PEEE A ¥ £ )8 @12 @14

)

350.8x1.5 ° ° 350x3.0 ° ) )

@57x1.5 ) ) ) )
°

©60.5x2.0 o ° 360x3.0 ) o °

@ Z#SE O:FETH




